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ﬁiﬁ% TERFOBHOEILADKRES TREDHBESSLADKRES TREOBHOEILADKRES TREOHBERILNDOKRES
; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 4.74 59.08 | FnLst | 0.o0 ~ 0.00| 1.66 8.90 Zzh s 1.00 | 5.00 ~ 56.00 59.08 | =N | 5.00 ~ 5.00 | 1.66 8.90
2 100kN/MZ#B% % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#Z 5 — -~ — — |3mZE#BZ B -~ — — —
st 1.00 | 0.00 ~ 5.05 62.93 | LS | 000 ~ 000 1.653 8.75 ZzhLs 1.00 | 5.00 ~ 56.560 62.93 | =nLS | 5,00 ~ 5.60 | 1.63 875
3 100kN/MZ#B % % — -~ = —|[3mEEZB| — ~ — — — | 100kN/MZ#Z % — - ~ — — |3mZE#BZ B -~ — — —
ZzhnLst 1.00 | 0.00 ~ 6.20 77.87 | #FhLS | 000 ~ 000 1.67 8.92 ZzhnLst 1.00 | 5.00 ~ 7.30 77.87 | EnS | 6.00 ~ 7.30 | 1.67 8.92
4 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %3 — -~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 6.04 75.66 | TN | 000 ~ 000|172 9.20 ZzhLs 1.00 | 5.00 ~ 6.90 75.66 | TnLS | 600 ~ 690|172 9.20
5 100kN/MZ#B% % — -~ = —|[3mEEZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
ZzhnLst 1.00 | 0.00 ~ 6.36 79.98 | #FhLS | 000 ~ 000 1.64 8.80 ZzhLs 1.00 | 5.00 ~ 7.70 79.98 | #nLS | 6.00 ~ 7.70 | 1.64 8.80
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
zhLst ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLst ~ st ~ zhs ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLst ~ st ~ zhst ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ st ~ zhs ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ zh st ~ zhst ~ zh st ~




